
 

iz’u&i= dh ;kstuk&2024  

 
d{kk &  12 

fo"k; &  d`f"k tho foKku   

vof/k & 3%15 ?k.Vs               iw.kkZad & 56 
 

1- mn~ns'; gsrq vadHkkj & 

Ø-l-a mn~ns'; vadHkkj izfr'kr 

1- Kku 16 28.57% 

2- vocks/k  11 19.64% 

3- Kkuksi;ksx@vfHkO;fDr  13.5 24.10% 

4- dkS'ky@ekSfydrk 15.5 27.7% 

;ksx 56 100 
 

2- iz'uksa ds izdkjokj vadHkkj & 

Ø-
la- 

iz'uksa dk izdkj iz'uksa dh 
la[;k 

vad  
izfr iz'u 

dqy vad  izfr'kr 
¼vadks dk½ 

izfr'kr 
¼iz'uksa dk½ 

laHkkfor  
le; 

1- oLrqfu"B 16 ½ 08 14-29 31-37 20 

2- fjDr LFkku 10 ½ 05 8-93 19-61 20 

3- vfry?kqÙkjkRed 08 1 08 14-29 15-69 25 
4- y?kqÙkjkRed 12 1½ 18 32-13 23-53 35 

5- nh?kZmÙkjh;  03 3 09 16-07 5-88 45 
6- fuca/kkRed 02 4 08 14-29 3-92 50 
 ;ksx 51  56 100% 100% 195 feuV 

             

fodYi ;kstuk % [k.M ^l* ,oa ^n* esa gSa               

3- fo"k; oLrq dk vadHkkj & 

Ø-l-a fo"k; oLrq vadHkkj izfr'kr 
1- Ikkni iztuu 08 14.29 

2- tSo izkS|ksfxdh 06 10.71 

3- dhV foKku 08 14.29 

4- dhV fu;a=.k dh fof/k;k¡ 04 7.14 

5- Ikkni jksx foKku 06 10.71 

6 Qlyksa ds jksx 06 10.71 

7- fuesVksM ¼lw=d`fe½] Lyx ,oa Lusy 06 10.71 

8- d`f"k egRo ds izeq[k tarqvksa dk v/;;u 08 14.29 

9- jktLFkku esa ikyus ;ksX; [kk| eNfy;k¡ 04 7.14 
                                                    ;ksx 56 100 
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iz'u&i= CY;w fizUV 
d{kk &   12       fo"k; df̀"k tho foKku        iw.kkZad & 56 

Ø-la- mÌs'; bdkbZ@mi bdkbZ Kku vocks/k Kkuksi;ksx@vfHkO;fDr  dkS'ky@ekSfydrk ;ksx 
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fodYiksa dh ;kstuk %& [k.M ^l* ,oa ^n* esa izR;sd esa ,d vkarfjd fodYi gS   uksV%& dks"Bd ds ckgj dh la[;k ^vadksa* dh rFkk vanj dh la[;k ^iz'uksa* ds |ksrd gSA  
                       

gLrk{kj 
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ekè;fed f'k{kk cksMZ jktLFkku] vtesj 

e‚My ç'u i= mPp ekè;fed ijh{kk 2024 

fo"k;% d`f"k tho foKku ¼AGRICULTURE BIOLOGY½ 

d{kk& 12 

le;% 3 ?k.Vs 15 feuV          iw.kkZd% 56  

ijh{kkÆFk;ksa ds fy, lkekU; funsZ'k% 

GENERAL INSTRUCTION TO THE EXAMINEES : 

1- ijh{kkFkÊ loZçFke vius ç'u i= ij ukekad vfuok;Zr% fy[ksaA  

Candidate must write first his/her Roll No- on the question paper compulsorily- 

2- lHkh ç'u djus vfuok;Z gSA 

All the questions are compulsory. 

3- çR;sd ç'u dk mÙkj nh xÃ mÙkj iqfLrdk es gh fy[ksaA 

 Write the answer to each question in the given answer book only- 

4- ftu ç'uksa es vkUrfjd [k.M gS mu lHkh ds mÙkj ,d lkFk gh fy[ksaA 

For questions having more than one part the answers to those parts are to be written together in continuity- 

5- ç'u dk mÙkj fy[kus ls iwoZ ç'u dk Øekad vo'; fy[ksaA 

Write down the serial number of the question before- attempting it- 

6- ç'u i= ds fgUnh o vaxzsth :ikUrj.k esa fdlh çdkj dh =qfV@vUrj@fojksèkkHkkl gksus ij fgUnh 
Hkk"kk ds ç'u dks gh lgÈ ekusaA 

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the question 
of Hindi version should be treated valid- 

7- ç'u Øekad 16 ls 20 es vkUrfjd fodYi gSA 

There are internal choices in Question No. 16 to 20 . 
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[k.M+ & v 

SECTION- A 

iz'u la[;k 1 esa cgqfodYih ç'u gS ftudk lgh mÙkj] mÙkj&iqfLrdk esa fyf[k,: 
Question No.1 contains multiple choice questions. Write the Correct answer in your answer book. 

¼i½ fuEufyf[kr esa ls dkSulh fof/k ladj.k }kjk çtuu dh fof/k ugha gS   ½  
¼v½ iqat fof/k   ¼c½ çrhi ladj.k fof/k 

¼l½ oa'kkoyh fof/k  ¼n½ 'kq) oa'kØe fof/k 

Which of the following is not a method of  breeding by hybridization - 

(A) Bulk Method   (B) Back cross method 

(C) Pedigree Method   (D) Pure line selection method 

¼ii½ dsUæh; 'kq"d {ks= vuqla/kku laLFkku fLFkr gS&       ½ 

¼v½ tks/kiqj    ¼c½ Hkjriqj 

¼l½ ukxiqj    ¼n½ twukx<+ 

Central Arid zone Research Institute is located 

(A)  Jodhpur   (B)  Bharatpur 

(C) Nagpur   (D) Junagadh 

¼iii½ DNA ds fljs ls U;wfDy;ksVkbM dks vyx djus dk dk;Z djrs gSa &   ½ 

¼v½ ,.MksU;wfDy,t  ¼c½ ykbxst 

¼l½ DNA i‚yhesjst    ¼n½ ,DlksU;wfDy,t 

Work to separate nucleotides from the end of the DNA . 

(A) Endo nuclease    (B) Ligase 

(C) DNA Polymerase    (D) Exonuclease 

¼iv½ RI IykfTeM çkIr gksrk gS &        ½ 

¼v½ jkbtksfc;e esyhyksVh   ¼c½ ,xzkscSfDVfj;e jkbtksthUl 

¼l½ cSlhyl Fkqfjuft,afll  ¼n½ FkeZl ,sDosfVdl 

Ri Plasmid is obtained from - 

(A)  Rhizobium meliloti    (B)  Agrobacterium rhizogenes 

(C)  Bacillus thuringiensis   (D) Thermus aquaticus 
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¼v½ fuEufyf[kr esa ls fdl dhV dks 'd‚Vu c‚y oeZ' ds uke ls Hkh tkuk tkrk gS \ ½ 

¼v½ gsfydksojik vkehZtsjk  ¼c½ fllsfe;k buQsjsal 

¼l½ ,selsDVk eqjh    ¼n½ dkiksZfe;k oSlwfo;uk 

Which of the following insect is also known 'Cotton ball worm ? 

(A)  Helicoverpa armigera   (B)  Sesamia inferens 

(C) Amsacta moorei    (D)  Carpomyia vesuviana 

¼vi½ jsfxLrkuh fVM~Mh v.Ms nsrh gS &        ½ 

¼v½ Hkwfe esa    ¼c½ ifÙk;ksa ij 

¼l½ rus ij   ¼n½ Qyksa esa 

Desert Locust lay eggs at - 

(A) In the land     (B)  on the leaves    

(C) On the Stem    (D)  In fruits  

¼vii½ dhVksa ds fu;a=.k gsrq ç;qä gksus okyh ;kaf=d fof/k gS &    ½ 

¼v½ [kkbZ [kksnuk     ¼c½ gLrtky }kjk 

¼l½ o`{k ds rus ij iêh ck¡/kuk ¼n½ mi;qZä lHkh 

A mechanical method used to control pests  - 

(A) Trenching    (B) Hand net trap 

(C) Tree banding   (D)  All of the above 

¼viii½ ikbjsFkze uked dhVuk'kh çkIr fd;k tkrk gS&      ½ 

¼v½ yfEczdksusjhl   ¼c½ ØkblsUFksee 

¼l½ ,tkfMjsDVk bf.Mdk   ¼n½ jksMhfy;k dkMhZusfyl 

An insecticide called Pyrethrum is obtain from - 

(A)  Lumbriconereis    (B) Chrysanthemum 

(C) Azadirachta indica    (D)  Rodolia cardinalis 

¼ix½ Hkkjr esa 'ikni jksx foKku dk tud' ekuk tkrk gS &     ½ 

¼v½ OgsV ty    ¼c½ oklqnsok 

¼l½ bZ- ts- cVyj    ¼n½ ckcZj 
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He is considered the 'father of Plant  Pathology' in India - 

(A)   Whet jal     (B) Vasdeva 

(C)  E. J. Butler     (D) Barber 

¼x½ VekVj dk i.kZ dqapu jksx fdlds }kjk lapfjr gksrk gS &    ½ 

¼v½ iÙkh Qqndk    ¼c½ lQsn eD[kh 

¼l½ dod     ¼n½ lw=—fe 

What causes leaf curl disease of tomato - 

(A)  Leaf hopper    (B) Whitefly 

(C) fungi     (D)  Nematode 

¼xi½ jktLFkku ds LFkkuh; yksx fdl jksx dks 'ekSY;k' ds uke ls iqdkjrs gSa \  ½ 

¼v½ xsgw¡ dk rqanq jksx    ¼c½ [kk|ku dh iqêh jksx  

¼l½ xsgw¡ dk LrEHk jksyh jksx  ¼l½ tkS dk vko`r d.M jksx 

Which disease is called 'Molya' by the local People of Rajasthan?  

(A) Yellow ear rot disease    (B) Cereal cyst disease 

(C)  Stem Rust of wheat    (D) Covered smut of Barley 

¼xii½ dkyh Lyx dk çdksi eq[;r% gksrk gS &       ½ 

¼v½ eDdk    ¼c½ iku 

¼l½ pk;     ¼n½ xsg¡w 

Mainly affected by black slug is - 

(A) Maize    (B) Betel 

(C) Tea    (D)  Wheat 

¼xiii½ fVìs ds eq[kkax fdl çdkj ds gksrs gSa\       ½ 

¼v½ dkVus ,oa pckus okys   ¼c½ pckus ,oa pkVus okys 

¼l½ pqHkkus ,oa pkVus okys ¼n½ Liatkdkj 

What type of mouthparts do  grasshoppers have ? 

(A)  Biting and chewing    (B) Chewing and lapping 

(C) piercing and lapping   (D) Sponging  
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¼xiv½ ekse xzafFk;k¡ ikbZ tkrh gSa&        ½ 

¼v½ jkuh e/kqeD[kh esa    ¼c½ uj e/kqeD[kh esa   

¼l½ Jfed e/kqeD[kh esa  ¼n½ uj o jkuh e/kqeD[kh esa   

Wax glands are found in - 

(A) Queen Honey bee    (B) Male honey bee  

(C) Worker honey bee  (D)  Male and Queen Honey bee 

¼xv½ eRL; ikyu dh jktLFkku tutkfr {ks=h; fodkl la?k fy- ;kstuk jktLFkku ds  

dkSuls  Hkkx esa fLFkr  gS         ½ 
 

¼v½ iwohZ Hkkx    ¼c½ nf{k.kh Hkkx 

¼l½ mÙkjh Hkkx   ¼n½ if'peh Hkkx 

Rajasthan Tribal Regional Development Association Limited Scheme of fisheries is situated in  

which part of  Rajasthan ?          

(A)  In east     (B) In south 

(C) In north   (D) In west 

¼xvi½ uhyh Økafr lacaf/kr gS&         ½  

¼v½ eNyh mRiknu   ¼c½ [kk|ku mRiknu 

¼l½ nqX/k mRiknu   ¼n½ tSfod bZa/ku mRiknu 

Blue revolution is related to - 

(A) Fish Production   (B) food grain Productions- 

(C) Milk production    (D)  Biofuel production 

2 fuEufyf[kr ç'uksa esa fjä LFkkuksa dh iwfrZ dj mÙkj iqfLrdk esa fyf[k, %&    

Fill in the blanks of the Following questions in given answer book:- 

¼i½  fdlh tho ds fdlh y{k.k esa gksus okys vkdfLed ,oa oa'kkuqxr ifjorZu  

    dks  ---------- dgrs gSaA         ½ 
A Sudden and hereditary change in any characteristic of an organism is called .............. . 

¼ii½  ftu ikniksa esa okafNr y{k.k ds fy, ckgjh DNA mifLFkr gksrk gS] ,sls  

    ikni -------------dgykrs gSaA         ½ 
Plants which have external genes for desired traits are called ............ Plants . 

¼iii½ -------------------- lao/kZu }kjk vxqf.kr ikS/ks çkIr fd, tkrs gSaA    ½ 

Haploid Plants are obtained by .............. culture . 
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¼iv½ nhed--------------  feêh esa jgrk vf/kd ilan djrh gSA     ½ 

Termites Prefer to live in ...........  Soil. 

¼vi½ [kijk Hkàx ----------- x.k dk lnL; gSA        ½ 

Khapra beetle is the member of .............. order . 

¼vi½ HkkSfrd fo"k dhVksa dks --------------- fØ;k }kjk ekjrs gSaA      ½ 

The Physical Poison kills insects by ................ . 

¼vii½ lw=—fe;ksa dks la?k -----------------  esa j[kk x;k gSA      ½ 

Nematodes are Placed in the Phylum ................ . 

¼viii½ dsapq, esa mRltZu ------------- }kjk gksrk gSA       ½ 

In earthworms, excretion occurs  through ............... . 

¼ix½ ------------------------ dks ykal lw=—fe ds uke ls tkuk tkrk gSA    ½ 

 ................ is known Lance nematode . 

¼x½ eNyh ds rsy esa ------------------ i;kZIr ek=k esa gksrk gSA      ½ 

fish oil contains ...................  in sufficient quantity.  

3- fuEufyf[kr ç'uksa ds mÙkj ,d 'kCn vFkok ifä esa fyf[k, %& 

Write answer the Following questions in one  word or one line-  

¼i½ xzkE;u fdls dgrs gSa\         1 

 What is Domestication? 

¼ii½ ckjust ,oa ckjLVkj thu fdl thok.kq ls fy, x, gSa\      1 

 Barnase and barstar genes are taken from which bacteria ? 

¼iii½ vko';drk ls vf/kd flapkbZ ,oa [kkn nsus ij Qlyksa ij uk'khdhVksa dk D;k  
   çHkko iM+rk gS\           1 
 
What is the effect of harmful insects on crops due to excessive irrigation and fertilization? 

 
¼iv½ Ård{k; fdls dgk tkrk gS ?        1  
 
What is Necrosis? 
 

¼v½ ljlksa ds lQsn jksyh jksx ds çca/ku esa mi;ksxh dodukf'k;ksa ds uke crkb,A  1 
 

Name the fungicide useful in the the management of White rust of  Mustard . 
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¼vi½ v.Mtjk;qt lw=—fe ls vki D;k le>rs gSa\       1 
 
What do you understand by Ovoviviparous Nematode? 
 

¼vii½ tkSad dh ykj esa ik, tkus okys çfrLdand dk uke crkb,A     1 
 
Name the anticoagulant  found in leech Saliva: 
 

¼viii½ fdl _rq esa eNyh ugha idM+uh pkfg,\       1 
 
 In which season one should not fishing ? 
 

* [k.M& c 
 

SECTION-B 
 

y?kqÙkjkRed ç'u ¼mÙkj lhek & 50 'kCn½ 
Short answer type questions- (Answer limit- 50 words) 
 

4- mn~xe dsUæ ls D;k vfHkçk; gS\ mn~xe dsUæ ds çdkj fyf[k,A    1½ 

What is meant by Centres of origin?  Write the types of centres of origin. 
 

5- ikS/kksa esa ukbZVªkstu fLFkjhdj.k dks dSls c<+k;k tk  ldrk gS\     1½ 

How can nitrogen fixation be increased in plants ? 
 

6- ikS/k laj{k.k ;a=ksa dk pquko djrs le; fdu ckrksa dk /;ku j[kuk pkfg,\  1½ 
 
What things should be kept in mind while selecting plant protection equipments? 
 

7- Hkwz.k lao/kZu dks la{ksi esa fyf[k,A         1½ 

 
Write briefly about embryo culture . 
 

8- vukt ds lqjf{kr Hk.Mkj.k ds fy, D;k lko/kkfu;k¡ j[kuh pkfg,\   1½ 
 

 What precautions should be taken for safe storage of grains\  
 

9- LFkkfud jksx ,oa egkekjh jksx dks foHksfnr dhft,A     1½ 
 
 Differentiate between endemic diseases and epidemic diseases . 
 

10- nhed dks lkekftd dhV D;ksa dgrs gSa\        1½ 

 
Why are termites called social insects . 
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11- ew¡xQyh ds fo"kk.kq xqPNk jksx ds çeq[k y{k.k fyf[k,A     1½ 
 
  Write the main symptoms of peanut clump virus disease . 
 

12- lkekU; lw=—fe dk ukekafdr fp= cukb,A      1½ 
 
Draw a labelled diagram of a nematode . 
 

13- ,dy ,oa fefJr eNyh ikyu esa dksbZ nks varj crkb,A    1½ 
 
Write any two differences between monoculture and  Polyculture of fish . 
 

14- ?kksa?kk ds lkekU; y{k.k fyf[k,A        1½ 
 
 Write the general characteristics of a slug . 
 

15- ;—r—fe dk ukekafdr fp= cukb,A       1½ 
 
 Draw a labelled diagram of a Liver fluke . 
 

[k.M&l 
 

SECTION- C 
 

nh?kZ mÙkjh; ç'u ¼mÙkj lhek& 100 'kCn½  
Long answer type questions- (Word limit- 100 words) 
 

16- dkrjk dhV ds y{k.k] {kfr ,oa thoupØ ds ckjs esa fyf[k, A   ¼1$1$1½ 
 

 Write about the characteristics, damage and life cycle of Red, hairy caterpillar. 
 

vFkok/OR 
 

vukj dh frryh dhV ds y{k.k] {kfr ,oa thou pØ ds ckjs esa fyf[k,A  ¼1$1$1½ 
 
Write about the characteristics, damage and life cycle of Pomegranate butterfly. 
 

17- fdlh thok.kq dksf'kdk dk lfp= o.kZu dhft,A     ¼1$2½ 
Describe a bacterial cell with a diagram. 
 

vFkok / OR 
 

fdlh dod dksf'kdk dk çk:i cukrs gq, dodksa ds dksbZ pkj y{k.k fyf[k,A  ¼1$2½ 
 

Make a diagram of fungi cell and write any four characteristics of fungi. 
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18- uhacw ds dSadj jksx ds y{k.k] jksxtud ,oa jksx çca/ku ds ckjs esa fyf[k,A  ¼1$½$1½½ 
 
Write about the symptoms, Pathogen and disease management of citrus canker disease . 
 

vFkok / OR 
 

thjs ds Eykfu jksx ds y{k.k] jksxtud ,oa jksxçca/ku ds ckjs esa fyf[k,A   ¼1$½$1½½ 
 
Write about the symptoms, Pathogen and disease management of wilt of cumin disease. 

 
[k.M& n 

 
SECTION-D 

 

fuca/kkRed ç'u ¼'kCn lhek & 175 'kCn½  
Essay type question (word Limit 175 words) 
 

19- ikni çtuu ls D;k vk'k; gS \ blds fofHkUu mís';ksa dks le>kb,A    ¼1$3½ 
 
What is meant by Plant breeding?  Explain its Various objectives . 
 

vFkok /OR 
 

mRifjorZu çtuu D;k gS\ mRifjorZu çtuu dh fof/k dks js[kkfp= }kjk le>kb,A ¼1$3½ 
 
What is Mutation breeding ? Explain the Procedure of mutation breeding by a linear diagram. 
 

20- dsapq, ds ikpu ra= dk ukekafdr fp= cukrs gq, o.kZu dhft,A    ¼1$3½ 
  
Describe the digestive system of earthworm by drawing a labelled diagram . 
 

vFkok / OR 
 

fVM~Ms dh ckâ; lajpuk dk ukekafdr fp= cukrs gq, o.kZu dhft,A    ¼1$3½ 
 
Describe the outer structure of a locust by drawing a labelled diagram . 
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